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Find the initial basic feagible solution of the foll mving
transportation problem by I's Approximation Mctiod: 14
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4. a) Discuss expenditir€ &l opportunities in SCM.
7. .a) Ina bank 30 customer, gy the average are RIS |

< . .
SCM o Eﬁ)' cashicr in an hour. I ihg (ervice timic has expaicsass
distribution what is the e bhability that:

i) Itwill take more thay |2 minutes to served
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l:(:] Explain the importancy of outbound logistics in SCM.

5. a) What is Bull-Whip Eflcct? Explain. 7 -
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6. A stockisthasto supply 12.00 units of a product per year to b) Explain purc and mixed sfrategies in Game? bnlist basic

his customer. The demand i fixed and known and the shortage assujlnpuons. !
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Rs. 0.40 per unit per month and the ordering cost per order is yRUe g ax| N

Rs. 400. Determine: 14
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